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Note : (i)

(ii)

(i)

(iv)

(V)

(vi)

(vii)

(viii)

(2)
All questions are compuisory.

Internal options are given in Question Nos. 8, 11,15, 17;

19, 21 and 22.
Answer Question Nos. 1 to 6 in about 30 words each.
Answer Question Nos. 7 to 12 in about 50 words each.

Answer Question Nos. 13 to 17 in about 75 words

each.

Answer Question Nos. 18 to 22 in about 150 words

each.
Draw neat and clean labelled diagrams wherever required.

Marks of each guestion are indicated against it.

1. 59w faoms feg =29 £ 2

Define unsaturated solution.

HIRE W98 S R me § 2

What is Ocean Thermal Energy ?
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( 3)

3. T GYEEU N § 7

What is Photosynthesis ? 2
4, FHHUFHW H U WM G T F HHAER e |

Write in an orderly manner the colours of visible light of the sun. 2
5. o fRd wed § 2 WO & fafes W fofed |

What is Reproduction ? Write the different kinds of Reproduction. 2
6. 5] I TEE 2 FH AHIRT (9 FAA |

Draw a labelled diagram of longitudinal section of flower. 2
7. = g = W foafed foem Fefatas =1 afasn fFa e

(#) 5w

(F) 9§54

() T T :]

Write the names of scientists who invented the following :

(a) Telescope

(b) Steam engine

(c) Ae?aplane. 3
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8.

10.

11.

N-57/A1
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( 4)

TS % AN % HE o aEyitE @ 9y ?
Which precautions should be taken while using the screw guage ?
Haar
(On)
T =€t wd farm <= wEt | #5 fi9 sw R
Write any three differences between stop clock and stop watch. 3
aieyr | sy uferd J F12 d s fafed)
Write any three differences between scalar and vector quantities. 3
T 1 T fatad |
Write the ecomposition of Blood. 3
G5 F A FISH § 9 S A = e st w5 gumed |
Describe the excretory organs found in the body of human other
than kidney.
arerar
(On)
I = JARE 99 T AEiET 9 59

Draw the labelled diagram of internal structure of kKidney. 3




(5)

12. g B Foig F giaam =9 & Hae fatad |
Write Coulomb's Inverse Square Law of magnetism. 3
13. urgeli & wrE svam fafed |
Write main uses of metals 4
14, 7 21=8 99E Fi GwR ¥ gEEEd |
Explain in detail the Green House effect. 4
15, S aN e ? G FH @90 § 7
What are fossil fuels ? How are they formed ?
Hadr
(On
YR # HI5F F g6 &1 7% 567 i Fed & 7
Why is burning of food in the body called slow combustion ? 4
16. TaMdsE T8 warE 9 H s fated |
Write difference between Saprophytic and Parasitic nutrition. 4
17. 9t F w3 9= T 5= R F SE0E 9999 @1 949 | quF Hied |

Describe in brief the various types of asexual reproduction in plants.
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\ (6 )
SOE
(On)
Hiss & ®E e |
Write the functions of Brain. 4
1B.ﬂméummmwﬁﬁmﬁﬁﬁﬂaﬁﬁr&:
(#) HATHST TS HI ARG (A
(=) srge % T faty= @hl 9 Wi w2l ®

Explain the functional distillation of Petroleum under the following
headings :

(a) Lebelled diagram of fractionating column

(b) Name of the products at different temperature due o distillation 5

19. AESH-TF T WS T AHIHE (49 A5 |
Draw neat and labelled diagram of Nitrogen cycle.
Hqgan
(On)
Seuee § SO 1 YAE (69 TER o € 2

Explain how energy flows in Biosphere. 5
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( 7 )
20. Mfyra faraves Ta Tt Heme afifea 5 I T Fife

Differentiate between nuclear fission and nuclear fusion reactions. 5
21. Gt g 2= 9t A TEs = ofey v 1
Describe floating tank type Biogas plant with the help of a labelled

diagram.
AGar
(On)
AR R F1 e i # v SR
(97) fogr
(9) Su=ter %1 Amifeg faz
(|) I9Em

Explain the solar cooker under the following heads :

(a) Principle

(b) Labelled diagram of solar cooker

(c) Uses 5
Ez.mﬁﬁmﬁﬁwwwmﬁmmmaﬂhﬁmﬁﬁaﬁ

vird=] § Fifed .

(31) 9fteg =1 T@Enfas

(&) fafy

(§) 99@ F=uiar
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(8)
Describe a method for verification of Ohm's law in the laboratory
under the following heads :
(a) Ray diagram of the circuit
(b) Method
(c) Main precautions.

Herdr

(on)
uw fam #1ex 220 de2 & =@ | 10 U g g ) 9k 7 = #
yfafes 5 gv2 Tram § o =) a1 30 fem F e == sm@m 2 1 gfE
(1 kWh) &1 978 1 F991 2|
An electric heater uses a current of 10 A through a source of

220 volts. If this heater is used 5 hours daily, then calculate the
expenses in 30 days. Rate of 1 unit (1 kWh) = 1 rupee.
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Hisel
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e |
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Higel

(Vi) =& FEzaE B, == TS (97 gaed |

L -

(Viil) 709= W9 = 1o JAGicn

=y = af
H oHw S+d JAlRa &
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(i)

(iv)

(vi)
(vii)

(viil)

(2)
All questions are compulsory.

Internal options are given in Question Nos. 9, 11, 16, 17,

19, 21 and 22.

Answer Question Nos. 1 to 6 in about 30 words each.
Answer Question Nos. 7 to 12 in about 50 words each.
Answer Question Nos. 13 to 17 in about 75 words each.
Answer Question Nos. 18 to 22 in about 150 words each.
Draw neat and clean labelled diagrams wherever required.

Marks of each question are indicated against it.

1. THERs E IS E 2

What are green house gases ?

TS TF T e i | 7

Why is L.P.G. a good fuel 7
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( 3)

3. RITYERI = 9faR TSHE T 7

What is the power house of the cell ? 2
4. TR YU F I9E0 Toted |

Write uses of Solar Cell. 2
5. TR WoE = 2

What is sexual reproduction ? 2
6. i A fgmves fafy 4 v =1 mifeq 99 T

Draw labelled diagram of Binary fission in Amoeba. 2
7. FHE®E d wam & wfaem v =1 e fafed

Write Coulomb's Inverse Square Law of magnetism. 3
8. T & weA fatad |

Write the composition of Blood. 3
9. ux af R Sfew & yeg T 1 6 gl 20 FUes 9El | 918 1§ A

afeR ¥9M & 25 9 71 A F 24 B 901 % a0t 6, 91 9HE F T F

HEqaHIE F1d S5 |

In a Vernier Calliper 1 cm of main scale is devided into 20 small

equal parts. If 25 small divisions of Vernier scale are equal to 24
small divisions of main scale, find the least count of Vernier Calliper.
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(4 )
HIAT

(On)
U T S AN F S R TR AN TS 4 o o aed B i adwm
=TT 9T H WA 100 , T WS H 99 A FAeqqHw=E qa S |
VWhen the circular cap of a Screw guage is rotated 5 times, the

screw shifts by 4 mm. If there are 100 divisions on the circular

cap, find out the pitch and the least count of Screw guage. 3
10. T gerd =1 it o0 9 o0 99" 91 FEatE @A =9ned ?
What are the precautions taken for physical balance while weighing
a substance ? 3
11. 99= & = faf@ad |
\//rite down the functions of Kidney.
Haar
(On)
= 1 sEfeas de 79 Fed ¢
Why s Nephron called Dialysis bag ? 3
N-37/B1
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( 5 )

12. s am g FI wEa § 7

What is exponential growth ? 3
13. U & S&R F1 FHHE |

Explain the corrosion of metals. 4
14, =1eA HH- SEEES % F5EaE foad |

Write adverse effects of Carbon mono-oxide. 4
15. wargsitet ud gTsiEl 96 § 7 SRR e 7

Write difference between Saprophytic and Parasitic nutrition. 4
16. @yl T & = A e fefEd

Write down any four characteristics of Ideal fuel.

AG4Gr

(O)

FAAIFLU TF a5 5 I fared |

Write differences between renewable and non-renewable sources. 4
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( 5)
12. =R Ui gig FY Fao € 7
What is exponential growth ? 3
13. =i & F9R0 F1 FEAE4 |
Explain the corrosion of metals. 4
14, Fraq TH-F 38 % FaaE fafed |
Write adverse effects of Carbon mono-oxide. 4
15, gergsiet ue gt qyv § 71 ST s 2
Write difference between Saprophytic and Parasitic nutrition. 4
16. =1yl 9 = =7¢ | waw fafad |
Write down any four characteristics of Ideal fuel.
Hgar
(Or)
THHAIHL0 T FTaAH 59 § 31 fared |

Write differences between renewable and non-renewable sources. 4
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(6 )
17. wae GaEA fF9 Fed & 7
What is tissue culture ?
rgan
(Or)
Write four functions of Cytokinin.
18. sj@en sivfwa F T g T |
Explain chain reaction by diagram.
19. ﬁﬁﬁﬁm?ﬂﬁmmm‘aﬁmmaﬁﬁﬁm

Describe floating tank type Biogas plant with the help of a labelled

diagram.
Fgar
(Or)
i a1 P v = e
(37) Tagr=
(F) ST H AHE (5
() 3@
N-37/B1
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(7))

Explain the solar cooker under the following heads :

(a) Principle

(b) Labelled diagram of solar cooker

(c) Uses 5
20. TAfeEE = W ArHeA F 9o e vk § s

(i) H= =0 =] AEifed 5

(ii) 3mE=A F w97 fafvy= amdl W o vt & =5

Explain the fractional distillation of Petroleum under the following
heads :

(i) Labelled diagram of fractionating column

(i) Name of the products at different temperature due to
distiliation.

o

21, Era @ wE | Wie § H o FHiiey |

Differentiate between food chain and food web.

e
(On)
YFid § i1 9% ! gHAE |
Explain water cycle in nature. 5
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( 8)

02 famifEa wiHEl % S=ia g 99 #5239 faf & au Fiw ;
(1) St ==
(1) fafa
(1) 3e9= =1 ® i)

Explain double touch method of magnetization under the following
heads :

(i) Labelled Diagram

(i) Method

(iii) Position of Poles produced.
G
(On)

frifera =1 3=eTT 510 FHEEd

(i) == e

(ii) ThE-T==g wEd

(i) wogEwE e

Explain the following with examples :
(i) Paramagnetic substance

(i) Ferromagnetic substance

(iii) Diamagnetic substance.
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Note : (i)

(vi)

(vil)

(wiii)

( 2 )

All questions are compulsory.

Internal options are given in Question Nos. 11, 12, 15,
17, 18, 21 and 22.

Answer Question Nos. 1 to 6 in about 30 words each.
Answer Question Nos. 7 to 12 in about 50 words each.

Answer Question Nos. 13 to 17 in about 75 words

each.

Answer Question Nos. 18 to 22 in about 150 words

each.
Draw neat and clean labelled diagrams wherever required.

Marks of each question are indicated against it.

1. geafedFad 6 ?

What is Combustion ?

o FEEEE EE FHE-FEE © 2

Write the names of non-renewable sources.

q. ot 9y R Tew € 2

What is Autotrophic Nutrition 7

N-37/CA
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( 3)
4. - |R A9 giwEl {9 Fed © 2
What are solar heating devices ? 2
5. At WA Fa Fea € 2
What is Asexual Reproduction ? 2

6. wiggl # y=ad (budding) fafu § wo=m 1 f5a o= 50 gwznsd |

4%

Draw labelled diagram of budding in Hydra.
7. TRl F1 gTEER | # Hew § 7

What is the importance of technology in Telecommunication ? 3
8. = H Fam & Waes 9 %1 a4 fafau

Write Coulomb's Inverse Square Law of Magnetism. 3
9. = %1 gied farag |

Write composition of Blood. 3
10. 3R SR =1 THifsd oz a g |

Draw a labelled diagram of Vernier Callipers. 3
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(4)
11, SFm w1 § 7 2% T god &1 5 w1 a9 Fed |

What is Stomata ? Draw the diagram of the opening process of
stomata.

sean
(On)
el § gl = e fee weR B Em T 2
How many types of transportation of materials in plants ?
12. sz Afe =1 2 7
What is backlash error ?
Hgdr
(On)
S T I FTE A FA-FE At e Ay 7 (FE )
What precautions should be taken while using a screw guage ?
(Any three)
13. A=l Ua gEsiEn g F e fare |
Write difference between Saprophytic and Parasitic Nutrition.
14, TE TEE TEId FA-SE § 3 T wEE wE w2

Name the main Pollutant and how are they originated ?

N-37/C1
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( 5)

(5. Tfs e SR Tt So 9 7Y 391 9990 © 7 T A e |

What do you understand by Kinetic Energy and Potential Energy 7

Write their units.
Hgar
(On)
FHE I g ° SR S 3w 3 I € 7
Why is charcoal good fuel in comparison to wood ?
16. ersafaam % s9am fafan
Write the uses of Titanium.
17, wiffes % W= 9% F1 farag |
Write four main functions of Auxin.
egar
(On
P I FEE ?
What is Synapsis ?

N-37/Ct
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(6)
18. fa= g1 & = =t g9aEd |
Explain food web with the help of diagram.
qear
(On
wafa B wdn SleaEs 9% w1 fa7 diea g9 |
Explain carbon dioxide cycle in nature with the help of a diagram. 5
19. UaIfergm = WHISH STER =1 904 eifeha vise] o Fiag
(i) 3maas @ = AWiEa =9
(i) smEEA F 9ua fafv= adl W v wedgt & A
Explain the fractional distillation of Petroleum under the headings :
(i) Labelled diagram of Fractionating Column.
(i) Name of the products at different temperature due to distillation. 5
20. ATHFE Fwa F1 99 Fefaraa diesl | S99
(i) itHe TErf=
(i) =rafaty

N-37/CH
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-

2 B8

(7))

Describe the Nuclear Reactor with respect to the following heads :
(i) Labelied diagram

(i) Working 5
T TE AR 2 T FE @ W gwa

What is Short Circuit and Overloading ? How can we prevent from
these ?

Freran
(On)
Favar Tyl faf gro e = =1 fafv @ ovis Freifea sidsi % s
It
(i) =mifwa Tarf=
(i) fafia =1 3o
(iil) g =1 fearfa

Explain divide touch method of magnetization under the following
heads :

(i) Labelled diagram
(i) Description

(iii) Position of poles 5

N-37/CA1 Turn Over
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K- o)
22. Tl & Ehl I 9EE 997 T 59T 99 Hie |

Describe floating tank type Biogas plant with the help of a labelled

diagram.
4T
(On)
IR s %1 = vt o 5o =it .
(i) fagr=
(i) ST=Tm =1 AR (o
(iff) TTEmT

Explain the solar cooker under the foilowing heads :
(1) Principle
(i) Labelled diagram of solar cooker

(iii) Uses.

N-37/CA
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(vii)
(viii)
Note : (i)

(if)

(iii)

(vii)
(wviii)

N-38/A2

P-62

(2 )

TIF WYR & 9 aqefen AF I 7O 3ifaa 5
All questions are compulsory.

Internal options are given in Question Nos. 9,11,16, 17,

19, 21 and 22.

Question Nos. 1 to 6 are Very Short Answer Type

Questions. Answer in about 30 words each.

Question Nos. 7 to 12 are Short Answer Type Questions.

Answer in about 50 words each.

Question Nos. 13 to 17 are Short Answer Type Questions.

Answer in about 75 words each.

Question Nos. 18 t0 22 are Long Answer Type Questions.

Answer in about 150 words each.
Draw neat and clean labelled diagrams wherever required.

Marks of each question are indicated against it.



1. =i =ui =1 givarfeg i3

Define Acidic Rain. 2
2. 3o el o we W B 2

Why do fuels burn quickly ? 2
3. 3" e %1 7w fafed o == 3 g s & 2

Write names of organisms which breathe through skin. 2
4. T4 4 wra B 90 S sgva fafwon @ wm fatay )

Name two invisible radiations emitted by the sun. 2
5. WHg nfEw F = = fafed

Write main functions of human brain,
6. #fie: = U i W § et ffed |

Write the difference between Asexual reproduction and Sexual

reproduction. 2

7. T AR GG T WGF @ F S A A w9 7

What will happen if water products from the Mathura Oil Refinery

are discharged into the Yamuna ? 3

N—38/A2 Turn QOver
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( 4 )

8. ﬁmwﬁnmaﬁwﬁww% ?
Write difference between stop clock and stop watch. 3

Ffew o wfew aferd § a=w fofgy (=13 91)

{a]

Write differences between scalar and vector quantities (any three).
HAgar
(Or)

mﬁwa’r@ﬁrﬁa%rwmﬁa1ﬁﬁ3mWWn.s faet %1 af 2
aﬂﬂﬁﬁqﬁmoﬂsﬁﬁﬁ.ﬁﬁaﬁ%ﬁrﬁﬁamwﬁaﬁmm
FIfad |

You are given two spherometers. Their pitches are 1 mm and

0.5 mm res;ﬁectively. If the least count of each of them is 0.0005

cm, find the number of division on their circular head scales. 3
10. wﬁ%qﬁﬁﬁﬁﬁfﬁa%mﬁmﬁl

Explain the role of Stomata in transport of materials in plants. 3
. sefafsa s & 2

What is Dialysis ?

N-38/A2
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( 5)
gar
(On)
TarERTY (TIETen) § Tawe § w5 @ o fmrad |
Write three differences between Diffusion and Osmosis. 3
12. fore@ & =a ¥ 701 909 © 7 TEE1 STEM T UHY = FEEA
=iEy ?

What are hazard of electricity ? What essential precautions should

be taken while in use with it ? 3

13. T yell % 3vam fafed )

Write down the.uses of alloys. 4
14. TEfs fSemEs %1 9W, 93 9 5 3= fated |

Write the name formula and two uses of universal solvent. 4
15, T TR S T e S T T e = S Fd € Aadl Sl e,

7 7

Gas lighter is used to burn cooking gas but not candle. Explain,

why ? 4
N—-38/A2 Turn Qver
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16. mﬁmﬁwﬁ-ﬁf@ﬁr{aﬁém)

Write differences between Respiration and Combustion, (any foun
Agar
(On)
W-Wﬁmﬁwm%%ﬁﬁﬂqﬂﬁﬂ‘r
Explain the importance of carbon dioxide in photosynthesis.

17, mmﬁmﬁ%ﬁaﬁﬁf&mﬁﬂaﬁmm% ? WIE F =1 fefga

4

Into how many groups can plant hormones be classified -? Write
the function 'of each.

T

(On)
St aﬁ?ﬁ*ﬁﬁqﬁﬁwaﬂ% |

Compare growth in plants and animals. 4

18. ?ﬁqu"gﬁmﬁa%%w ?Eﬁq%ﬁ%ﬁ?ﬁwwﬁqﬁmﬁ%‘,aﬁ ?
Cabon is an unique element, how ? Why do organic compound
occurin a large numbers ?

N-38/A2
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{ 7 )
19, memmmwmﬁu

Explain producer, consumer and decomposer with example,

AgaT
(On)
T W @ F 6 | atferw o 8wy 2 3T 75, A =i 2
Can food chain have more than 6 steps ? If not, why ? 5
20. =g Fers air fsa fagreg § = fafay
Write differences between nuclear fusion and nuclear fission. 5
21. AR FF (Hrew wF) 1 == Wi fas ==y

Draw a neat and labelled diagram of solar cooker.

Hgar
(On)
T 8 Sl sl = wEw gwmRy
Explain the cause of energy production of the sun. 5
N-38/A2 Turn Over
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(8)
22. A wE =1 e s o 55 av wie ey = wiamn S
Write Coulomb's law of electricity and define unit charge.
HAgar
(On)

U W B g #ifd e e o wen s § w9 sfi s
B Bt ¥

Prove by an experiment that identification of magnetism is repulsion

not attraction.

N-38/AZ
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I

YA FHIE 1 W 6 a0 30 AY IHHE WA ¢ | Foddh WO F1 I
30 vi=i H Eifed |

UvE FHE 7 W 12 7% oY S09 W 1 WoIE 9 H S A
50 =t # Eifs |

U FHIE 13 9 17 TF oY ITRIG ¥4 ¢ | Yo WA T I o1
75 vi=1 4 gifei |

YT FEF 18 ¥ 22 7% 219 ST WA & | e WA 1 36 o
150 TI=1 | Sifed |

S STavEE T, =9 THiEd (93 5434 |

Turn Over



Note : (i)

(1i)

(i)

(iv)

(V)

(vi)

(vii)

(viii)

(2)

All questions are compulsory.

Internal options are given in Question Nos. 10, 11, 15,
17,18, 19 and 21.

Question Nos. 1 to 6 are Very Short Answer Type

Questions. Answer in about 30 words each.

Question Nos. 7 to 12 are Short Answer "vpe Questions.

Answer in about 50 words each.

Question Nos. 13 to 17 are Short Answer Type Questions.

Answer in about 75 words each.

Question Nos. 18 to 22 are Long Answer Type Questions.

Answer in about 150 words each.
Draw neat and clean labelled diagrams wherever required.

Marks of each question are indicated against it.

1. afEm wE § fog =0 99 s %1 91 f&hEg)

Write the name of the chemical responsible for ozone hole in the

ozone layer.

2. FEFI T ? o9« os fofEg )

What is work ? Write its unit.

N-38/B2
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( 3)

3. MV F AHR WS fFm vER S a0 € 7

Write the kinds of organism on the basis of nutrition. 2
4, ‘= foga' 8 o = weEa © 7

What do you mean by ‘Hydro-electricity’ ? 2
5. THO=R & 40 vy #9 wa & 7

Which structure is formed soon after fertilization ? 2
6. =WE H HEER T AW H= EvaE v 2

Why is Iodine necessary in salt ? 2

7. F amE & G fefed f9=i fmtete =1 g 5
(31) e |
(|) TR Sers
(|) =@ 399G T
Write the name of the scientists who had invented the following :
(a) Telescope
(b) Aeroplane

(c) Rocket with liquid fluid - 3
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8. THTH T VAN FI 99 BH-F T gEEE! v 9y 2
What precautions should be taken while using screw gauge ? 3
9. T = SIS U3 ¥a0 T FivEsi = gee fafgd )

Write the importance of red blood corpuscles and white blood
corpuscles. 3

10. =1 =Frw 2 for Wi # Se0 9o st fasfaa = 3m 7

What is the reason that excretory system is not well-developed in
plants ?

Hear
(Or)
U FIVERIT STEl § 9erdl w1 9ftEe 59 g ¥ 2 quened |
How does tra_;nspurt of materials occur in unicellular organisms ? 3
1. sifew qar wfew vferd 4 s fafad | (21 &)
Write differences between scalar and vector quantities. (any three)
FHaar
(On)

T 916 Z ThHUHIT T | T 1 e 1 et 9o ot =7 0.5 it 31 gfe o
& SFT9aHE 0.0005 T E, @ S 3 F 9 S W 9w Se 3
F I |
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12.

13.

14.

T8

(5)

You are given two Spherometers. Their pitches are 1 mm and
0.5 mm respectively. If the least count of each of them is

0.0005 cm, find the number of divisions on their circular head

scales. 3
e A W g 9 T € e
Why is magnetism lost on heating ? 3

o @ 39T & oA st fated | (FE 90)
Write differences between metals and non-metals. (any foun 4
werfo e SR S O 4 WA w2 oI T |

What is the effect of polluted water over aquatic organisms ?

Explain. _ 4
vagA UE T 1 S fafed ) (FE =)
Write differences between respiration and combustion. (any four)

HgaT
(Or)
W—Wﬁﬁﬁ‘fﬁﬁm%ﬂ%ﬁﬁﬁm1

Explain the importance of carbon dioxide in photosynthesis. 4
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( 6 )
16. g =1 o =i & et & = wi o  waty foah § 9 9t o S
i e
Kerosene burns with biue flame in stoves but produces yellow
flame on burning in a lamp, why ?
17, Toraves =91 ¥ 7 58 uwwivia 9ia F wewen § ToeEd
Define fission and explain it with example of unicellular organism.
Hgar
(On)
it = wq@ e =0 2
What are the functions of Auxin ?
18. H@Wﬁﬁaﬁa%ﬁaﬂmmﬁmﬁﬁmwmﬁmﬁﬁﬁfaﬁ
HHR 9 .
(1) 5m =1 g
(|) gfigg Ta
(|) Tegm aifere
(%) = wEeft
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(7))
Verify Ohm’s law in laboratory on the following headings :
(a) Ohm'’s law
(b) Circuit diagram
(c) Observation table
(d) Two precautions
Agr
(On)
Tk & aNfvas fagra & /19 amavas e fefed)

Write three essential features of molecular theory of magnetism. 5

19. A1 FHt (o TF1) T == THiwg (97 T |

Draw a neat and labelled diagram of solar cooker.

HAgdar
(On
gF § Ze Ieata T FR A |
Explain the cause of energy production of the sun. 5
20. R 9 I FE-=0Y q9sEd |
Write the working of Solar Battery. 5
N-38/B2 Turn Over
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(8)
21. Siel F1 Fe=ifera 5 71 SEw1 8 ?

(H) w=id 9%

(9) SAfHTsT 9

(W) A== 9%

What role organism play in :

(a) Water cycle

(b) Oxygen cycle

(c) Nitrogen cycle
A4
(on

‘| gEen & wedE =00 (9E0 TWR) W SUasd FHe 399 9Bd & 90 W
IUETS HA1 F T 10 Wiawra Bl €1 36 F99 F @R Fiwd q9eEy |

“In a food chain, the energy available at each successive level is
10% of the previous level.” Explain this statement with example. 5

02. wEA UF Hgaa 0= £, 58 2 FE4 T A0 ATuF 9§ US 949 8, 74 7
Carbon is an unique element, how ? Why do organic compound

occur in a large numbers ? 5
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Total No. of Questions : 22]

[Total No. of Printed Pages : 8

N-38/C2
ICEIE|

(Science)
(Hindi & English Version)
Time : 3 Hours Maximum Marks : 75
fFewr: (i) =t wea afEdE 7
(i) w93 === 8, 11, 14, 16, 18, 21 TH 22 F wrafitwF faweg T

(iii) W HAF 1] 6 TF AT o ITG WA T | TeIF WA F I a4

30 yr=1 | Fifed |

(iv) Wﬂiﬁ?@uﬁﬁaﬁﬁam%mmaﬂmmw
50 w2 4 Eifrd |

(V) W93 FHF 13 § 17 75 =9 009 U9 & | T A 1 391 w0
75 V=] | gifed |

(Vi) 999 A 18 ¥ 22 7% 78 U9 U9H ¢ | Wi W99 &1 307 o5
150 y1=51 & &ifard |

(vii) =& T5vEF 9, T= THiEa 53 59Ed)
(viil) w=F ¥ F a2 sEren 3% 39 99 HF0 ¢
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Note : (i)
(ii)

(ifi)

(iv)

(v)

(Vi)

(vii)

(viii)

(2)

All questions are compulsory.

Internal options are given in Question Nos. 8,11, 14, 16,
18, 21 and 22.

Question Nos. 1 to 6 are Very Short Answer Type
Questions. Answer in about 30 words each.

Question Nos. 7 to 12 are Short Answer Type Questions.
Answer in about 50 words each.

Question Nos. 13 to 17 are Short Answer Type Questions.
Answer in about 75 words each.

Question Nos. 18 to 22 are Long Answer Type Questions.
Answer in about 150 words each.

Draw neat and clean labelled diagrams wherever required.

Marks of each question are indicated against it.

1, oeEveE fHE wed ¢ 2

What is Atmosphere ?

o gAY Y T HAH € ?

What do you mean by Combustion ?

3 youE e stadE = FE T 2

Why is respiration known as biological oxidation ?
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(3 )
4. ¥ Ha H v o TeEEE a=l & 9 fatad )

Name the iwo chemical elements used in the manufacture of solar
cells. 2

5. WU E ) THE e 1 © 7

What is Placenta ? What are its significance ? 2
6. TfeE =1 HEd & 1§ 7

What is the main function of Insulin ? 2
7. vrifieR § mma Stee 3 5w v e s g 2

How is human life changed by the help of technology ? 3
8. sifew aur wigw ufve 3§ s fof@a | (FiE 99)

Write differences between scalar and vector quantities. (Any three)

| Aqar

(Or) 3
9 9TH < TRUHIR | T 1 T 1 T qen gE o 0.5 Tt B ) Ak A
F1 {eqadiF 0.0005 THT &1, § Sl g1 & ¥ e | 9 =1 98 7
FIad |
You are given two Spherometers. Their pitches are 1 mm and
0.5 mm respectively. If the least count of each of them is 0.0005
cm, find the number of divisions on their circular head scales. 3
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(4)
9. aﬁm%ﬁmﬁmmﬁaﬂﬁmﬁq—aﬁqﬁmﬁmﬁﬁmﬁa@?
(=Ts #)
What precautions should be taken while using a Vernier
Callipers ? (Any three) 3
10. o= #01 % 7 T 9 o 3 o guEaE fate )

What is Lymph ? Write three points of similarity between blood
and lymph. 3

1. a1 vE foosdi | o mand | (38 99)
Write the differences between arteries and veins. (Any three)
Agar
(Or)
TIF & AR F P G4 TR E o 9 |
Draw a neat and labelled diagram of Nephron of kidney. 3
12, =& 150 § $F-F94 0 89 =fed 7 (F8 99)
What properties should magnetic keepers have ? (Any three) 4
13. Fr=ifera wamtes sfufraei w1 agfem Tamts Tdiem fafe -
() F=937 =1 Gifegn & 99 faa
(F) TESI=H + Wy Hfogay 51 e
(9) Hifemas =7 sidi=m 3 oy fem
(2) 5= =1 HCI & @z &
N-38/C2
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14.

15.

16.

( 5)

‘Give the balanced chemical equation of the following reactions :

(a) Action of Chlorine with Sodium
(b) Action of Hydrogen with Calcium
(c) Action of Oxygen with Magnesium
(d) Action of Hydrochloric acid with Zinc. 4
YgHA Ud G849 § Tt far@d | (i |9
Write differences between respiration and combustion. (Any four)
rerar
(On
THTYT-HYCHY § FEq SHAGHES + Hed F1 GHHEd |
Explain the importance of carbon dioxide in photosynthesis. 4
YRR % fou s =i smavas § 7 59 99 E<sl & o W= wifd)
Why is water essential for our body ? Explain in three points. 4
gfg =1 fafs= s =1 9= Fied |

Describe the various stages of Growth.
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(6 )

wrgar
(Or)
sin mrE i FA ¥ 7 i dfa g wifae 26 e el 9w e &

feif@d |

What are Endaocrine glands ? Make a list of fourimportant hormones
secreted by various glands of human body and write their
functions. 4

17. gt § Fiael =1 50V 59 THE g4 7
How was Coal formed in Earth ?
18. TR T (HieR HF1) F1 == THIH 93 T84 |
Draw a neat and labelled diagram of Solar Cooker.
gar
(Or)
g3 Ho1 30900 6 TR FEEd |
Explain the cause of energy production of the Sun. 5

(i) =it Tt
(i) fefaf

N-38/C2

P64




(7))

Fxplain nuclear reactor under the following heads :

(i) Labelled diagram

(i) Mechanism. o
20, FTe UF AEHE T B, F 7 FEA T AT A AW A I 54§, 7

Carbon is an unique element, how ? Why do organic compound

occur in a large numbers 7 5
21. Vo9 e Fad ¢ ?
What is water cycle ?
ayear
(on
EEELe i - g :ﬂqf% & 921 =] A9 |
What is Biosphere ? Explain its main components. 5
00, favs =99l fafy g o7 & =1 fafy %1 3o freitwd v & F=
FIed
(&1) =iy =
(=) fafta =1 =i

(9) ygai =1 Teeia
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(8)
Explain the divide touch method of magnetization under t_t;,.;
following heads : .
(a) Labelled diagram
(b) Description
(c) Position of poles

Agar

(Orn)
faga fava ga ifast 3 fes wo R gt € 2

How is electric potential related to hydrostatics ?
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